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1 |deiEE 3.9E+3 3,914.0
2 | BEHRER 7.8E+3 7,797.0
3 |5FE 4 1E+3 4,063.5
4 |EHE 7.5E+3 7,463.5
5 |RHEER 4 8E+3 4,771.0
6 |[ILFR 3.4E+3 3,361.0
7 |EBE 7.9E+3 7,920.5
8 |REE 7.4E+3 7,389.0
9 [HARE 9.5E+3 9,533.0
10 [BEER 1.4E+3 1,408.5
11 |BER 1.9E+3 1,883.5
12 | T8 4 6E+3 4,610.5
13 |EEAD 4 4E+2 442.0
14 |[ARNE 1.7E+1 17.0
15 |FiRE 1.2E+4 11,683.5
16 |EWE 3.6E+3 3,569.0
17 |BNE 2.4E+3 2,365.0
18 |f@HAR 4 8E+2 483.0
19 [WWEIE 9.6E+2 956.5
20 |RHE 3.1E+3 3,114.0
21 |IKEER 3.9E+3 3,930.0
22 |FEEER 2.0E+3 2,026.5
23 | EHME 8.3E+3 8,309.5
24 |ZEE 2.3E+3 2,339.0
25 |#ER 1.4E+3 1,365.5
26 | AT 5.3E+2 528.0
27 | XBAF 3.0E+2 300.0
28 | EER 3.2E+3 3,234.5
29 |E=RE 9.4E+2 936.0
30 |[FnERLE 2.9E+2 288.0
31 |EmME 8.4E+2 836.0
32 |ERE 1.1E+3 1,120.0
33 |FWE 3.4E+3 3,360.0
34 |[LEBR 1.9E+3 1,897.0
35 |lLOg 1.9E+3 1,869.0
36 |EEER 4 8E+1 48.0
37 |BINE 5.0E+2 504.0
38 |ERE 4 4E+1 44.0
39 |SHE 51E+2 508.0
40 |{EREE 1.2E+3 1,244.0
41 [EER 8.4E+2 840.0
42 |RIBE 6.4E+2 636.0
43 |RERE 1.8E+3 1,801.0
44 | K8 1.1E+3 1,070.5
45 | =BG 4.6E+2 461.0
46 |[ERBE 3.8E+2 380.0
47 g 3.6E+1 36.0

2E 1.3E+5 126.662.5
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